
∗
C C =

−1

I − z ∗z
X Z

ζ
z

=

− 1/2

I − z ∗z
X Z

ζ − z
−
ζ

Y [

γ−1
z

ζ = C ζ − z
−
ζ

Y [

= C

− 1/2
∗
CC
X Z

1/2
∗
CC
X Z

ζ − z
−
ζ

Y [

= C

− 1/2
∗
CC
X Z − 1/2

I − z ∗z
X Z

ζ − z
−
ζ

Y [

= C

− 1/2
∗
CC
X Z

ζ
z

γ−1
z

ζ
Y [

| γ−1
z

ω
Y [

= ζ
z
|ωz

C

− 1/2
∗
CC
X Z

unitary

ζ
w

= u− 1/2 w + e
Y [

ζ + w − e
Y [

−
ζ

X Z

1 − u 1/2
−1

′w + ∗w
X Z

u 1/2 u 1/2
−1

′w + ∗w
X Z

′u 1/2

′u 1/2
−1

′w + ∗w
X Z

u 1/2 1 − ′u 1/2
−1

′w + ∗w
X Z

′u 1/2

[
∗ωu− 1/2

+
ζ ′u− 1/2

] 1 − u 1/2
−1

′w + ∗w
X Z

u 1/2 u 1/2
−1

′w + ∗w
X Z

′u 1/2

′u 1/2
−1

′w + ∗w
X Z

u 1/2 1 − ′u 1/2
−1

′w + ∗w
X Z

′u 1/2

[
u− 1/2−α
′u− 1/2ζ

z

]

=
[
∗ωu− 1/2

+
ζ ′u− 1/2

]
(

1 − u 1/2
−1

′w + ∗w
X Z

u 1/2

)
u− 1/2−α + u 1/2

−1
′w + ∗w
X Z

′u 1/2 ′u− 1/2ζ
z

′u 1/2
−1

′w + ∗w
X Z

u 1/2u− 1/2−α +

(
1 − ′u 1/2

−1
′w + ∗w
X Z

′u 1/2

)
′u− 1/2ζ

z



=
[
∗ωu− 1/2

+
ζ ′u− 1/2

]
(

u− 1/2 − u 1/2
−1

′w + ∗w
X Z

)
−
α + u 1/2

−1
′w + ∗w
X Z

ζ
z

′u 1/2
−1

′w + ∗w
X Z−

α +

(
′u− 1/2 − ′u 1/2

−1
′w + ∗w
X Z

)
ζ

z


= ∗ω u− 1/2

(
u− 1/2 − u 1/2

−1
′w + ∗w
X Z

)
−
α + ∗ω u− 1/2 u 1/2

−1
′w + ∗w
X Z

ζ
z

+ ζ8

+ ′u− 1/2 ′u 1/2
−1

′w + ∗w
X Z −

α +
+
ζ ′u− 1/2

(
′u− 1/2 − ′u 1/2

−1
′w + ∗w
X Z

)
ζ

z



= ∗ω u−1 −
−1

′w + ∗w
X Z

Y [

−
α + ∗ω

−1
′w + ∗w
X Z

ζ
z

+
+
ζ

−1
′w + ∗w
X Z −

α +
+
ζ ′u−1 −

−1
′w + ∗w
X Z

Y [
ζ

z


